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Ideals for irreducible component#ﬂ)f Xpar

I = (W +u® 4+ —2u—1)

* 1 irreducible components of dim¢ = 0, with total 19 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u®4+u®+... —2u—1)

(i) Arc colorings

1
ailz = \0
1
a1g = U2
—u
ar = \—ud+u
—u? 41
a] = —U4 + 2'LL2
ud —2u
ag = \u® —3ud+u
u
a5 — u
—u?+1
app =\ —u?
—ud + 2u
as= \ —ud+u
uwl® — 708 + 16u — 13u* +u? + 1
az = wl® — 6ud + 1108 — 8u* + 3u?
—ult 4+ 8u® — 2207 + 24u® — 9u® + 2u
a3 = \ —u13 4 9yt — 2949 + 400" — 22u® + 3ud + u
—ul® + 13ul6 4 -+ 3u? + 1
ag = \ —u!8 4 12016 — 5701 + 13812 — 185010 + 14208 — 62u’ + 12u* — u?
(ii) Obstruction class = —1

(iii) Cusp Shapes
= 4yt — 44012 + 184010 — 3648 + 407 + 3448 — 24u® — 136u* + 40u® + 16u? — 16w — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
€1 w® — Tt 4 T2u — 41
C2,C3,Cs u19+u18+_.__2u_1
cy
C4,Cs, Co
19 18
c7,C10, C11 urtu+ 2u—1
C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1 Yt — 17y + ... + 26586y — 1681
€2,C3,C8 y 23y 2y —1
Cg
C4,Cs5, Ce
1 1
€7, €10, C11 Yy =20y 2y -1
C12




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

= —0.845643 + 0.2888901

—10.86190 + 3.907091

—14.5654 — 4.47891

—0.845643 — 0.2888901

—10.86190 — 3.907091

—14.5654 + 4.47891

0.747058 + 0.1912351

—2.97563 — 2.484291

—13.4435 + 6.63091

|||
I

0.747058 — 0.1912351

—2.97563 + 2.484291

—13.4435 — 6.63091

u= 1.35365

—7.74124

—9.76410

u = —1.387880 4 0.0776101

—10.14090 +- 3.441171

—14.0567 — 4.36821

u = —1.387880 — 0.0776101

—10.14090 — 3.441171

—14.0567 4 4.36821

u = —0.604746

—1.09372

—8.26920

u= 143278 4+ 0.129061

—18.5196 — 5.45861

—15.6445 + 3.09961

u= 1.43278 —0.129061

—18.5196 + 5.45861

—15.6445 — 3.09961

u= 0.263289 4 0.4508781 —7.42738 — 1.461971 | —9.51323 + 3.957301
u= 0.263289 — 0.4508781 —7.42738 4+ 1.461971 | —9.51323 — 3.957301
u = —0.156591 + 0.2941321 —0.229049 4 0.8413611 | —5.82037 — 7.862961
u = —0.156591 — 0.2941321 —0.229049 — 0.8413611 | —5.82037 + 7.862961
u = —1.83296 —19.7038 —10.2700
u= 183960+ 0.018491 17.2008 — 3.91501 —14.0216 + 3.64471
u= 1.83960 — 0.018491 17.2008 + 3.91501 —14.0216 — 3.64471
u = —1.85060 + 0.032251 8.56699 + 6.289581 —15.7829 — 2.53231
u = —1.85060 — 0.032251 8.56699 — 6.289581 —15.7829 4 2.53231




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 u'® —7u'® - 4 T2u — 41
C2,C3,C8 RIS L BUERY) PR |
C9
C4,Cs5, Ce
19 18
€7, €10, C11 v t+u e —2u—1
C12




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
1 Yt — 17y" + ... 4 26586y — 1681
€2,C3,C8 y 23y —2y—1
C9
C4,Cs, Co
€7, €10, C11 y =20yt 4 -2y — 1
C12




